
Тема: Дифракционная решетка. 

№ 1 

№ Период 

дифракционной 

решетки 

Угол 

дифракции 

Порядок 

спектра 

Длина волны 

1 1мкм 300 2 ? 

Дано:                          СИ 

𝑑 = 2мкм                   2 ∙ 10−6м              

𝜑 = 450      

𝑘 = 2 

Найти: 

𝜆−? 

Решение: 

𝑑 sin 𝜑 = 𝑘𝜆    =>       𝜆 =
𝑑 sin 𝜑

𝑘
                  

[𝜆] =
м ∙ 1

1
= м 

𝜆 =
2 ∙ 10−6 sin 450

2
= 0,71 ∙ 10−6(м)        

Ответ:  𝜆 = 0,71 ∙ 10−6(м)         

№ 2  

№ Период 

дифракционной 

решетки 

Угол 

дифракции 

Порядок 

спектра 

Длина волны 

2 3мкм 300 ? 400нм 

Дано:                               СИ 

𝑑 = 2мкм                   2 ∙ 10−6м              

𝜑 = 450      

𝜆 = 400нм                400 ∙ 10−9м 

Найти: 

𝑘−? 

Решение: 

𝑑 sin 𝜑 = 𝑘𝜆    =>       𝑘 =
𝑑 sin 𝜑

𝜆
          

[𝑘] =
м ∙ 1

м
= 1     

𝑘 =
2 ∙ 10−6 sin 300

400 ∙ 10−9
= 0,0025 ∙ 103 = 2,5 ≈ 2     

Ответ: 𝑘 ≈ 2        

 

 

 

 

 

 

 

 



№ 3 

№ Период 

дифракционной 

решетки 

Угол 

дифракции 

Порядок 

спектра 

Длина волны 

3 5мкм ? 4 0,3мкм 

Дано:                               СИ 

𝑑 = 5мкм                  5 ∙ 10−6м              

𝑘 = 4      

𝜆 = 0,3мкм                0,3 ∙ 10−6м 

Найти: 

𝜑−? 

Решение: 

𝑑 sin 𝜑 = 𝑘𝜆    =>       sin 𝜑 =
𝑘𝜆

𝑑
       

[sin 𝜑] =
1 ∙ м

м
= 1       

sin 𝜑 =
4 ∙ 0,3 ∙ 10−6

5 ∙ 10−6
= 0,24   𝜑 ≈ 140    

 Ответ:  𝜑 ≈ 140    

№ 4 

№ Период 

дифракционной 

решетки 

Угол 

дифракции 

Порядок 

спектра 

Длина волны 

4 ? 900 2 0,6мкм 

Дано:                               СИ 

𝜑 = 900              

𝑘 = 2      

𝜆 = 0,6мкм                0,6 ∙ 10−6м 

Найти: 

𝑑−? 

Решение: 

𝑑 sin 𝜑 = 𝑘𝜆    =>       𝑑 =
𝑘𝜆

sin 𝜑
        

[𝑑] =
1 ∙ м

1
= м     

𝑑 =
2 ∙ 0,6 ∙ 10−6

sin 900
= 1,2 ∙ 10−6(м)     

Ответ: 𝑑 = 1,2 ∙ 10−6(м) 

 


